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01 AlZ2H| 100,000 95,000 5,000
Outleg &dotd 4Xl 100,000, 000& 100,000
= 7,500
= 7,500
Ea 85,000
AlSPldae|(22/AZ 2 otetd) 253,700 217,232 36,468
= 66,773
s 22,365
s 164,562
ASPY - ARG 2el 253,700 217,232 36,468
= 66,773
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FA SFAY
B wE2AY| (394 (OIEHIIED
Sl D12gI(2HE 4D (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXH_SY R -S| 100,000& 122 1,200
405 KHaHF S| 6,000 0 6,000
01 ML ESF SHI 6,000 0 6,000
O0lsAal MIHEME2) 7Y
6,000,000& 6,000
Hees (A M) (2H-3/HIIS) 893,902 1,066,125 A172,223
WSHHRIS(BZ 2141 893,902 1,066,125 AT72,223
LHEHRH KIS (S Z 2141 893,902 1,066,125 AT72,223
701 JIEtRI HSHES 810,925 989,725 A178,800
01 JIE=I AN ES 810,925 989,725 A178,800
FEINESEH HES
810,925,000 810,925
RJlsdEs 82,977 76,400 6,577
(UII=ESE= 82,977 76,400 6,577
OHPISHMeIAIE =8 FeX&JIS (A7)
82,977,000& 82,977
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